
 

“Polar bear vs. penguin” exercises 

 

  

 

 

1. What does this sign mean?

 

 

 

 

 

 

 

 

 

 

 

 

Answer:.......................................................

.....................................................................

.....................................................................

..................................................................... 

..................................................................... 

 

2. What speed is able to reach running polar bear? Mark correct answer.  

a. 40 km/h 

b. 80 km/h 

c. 10 km/h 

 

3. Cross out incorrect sentences: 

Penguins have knees. Polar bears like the other bears hibernate during winter. Penguins 

don’t change feathers. The polar bear’s skin has dark color. Penguins usually lay three eggs.   

 

4. Write down three examples of polar bears’ adaptations to the Arctic climate.  

1. 
 

2. 

 

3. 
 

 

5. Why do penguins have black and 

white plumage? How is this 

method called? 

Answer:……………………………………………………

…………………………………………………………………

…………………………………………………………………

…………………………………………………………………

………………………………………………………………...

..................................................................... 
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Part for the teacher: 

1. During the lesson students will learn: 

 

- interesting facts about polar bears and penguins 

- adaptation strategies to the cold climate 

 

 

2. Answers: 

Ad 1 Warning sign – beware of the polar bears. 

Ad 2 a 

Ad 3 Incorrect sentences: Polar bears like the other bears hibernate during winter. Penguins 

don’t change feathers. Penguins usually lay three eggs. 

Ad 4 e.g. thick fur, wide paws, layer of thick fat 

Ad 5 Camouflage. The predator on a land sees a dark back, and a white belly in the sea. The 

colors are hardly to be seen depending on the type of surface. 


